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tok. He = 4469 m, # = g9. 1907.
Aktinometer.
Richtung und Stirke des Bewdlkung und
Tag. Windes. Niederschlag. Schwarz-| Blank- Bemsibkiaan g en.
kugel. | kugel.
v a 1p. 7a|1p.| 9p. Cels. Cels.
e
,. S:»I;L — | NNW 1 — | Yo o — —
18 NW 1 W 2 0 1 O 1 6545 3770
19 ~ 0 — O €| © © 537 337
20 E 3 E 2 o I o §5°6 37'7
21 E 1 — B o 0 o §3'8 385
22 — O SW 3 0 o 0 §3'3 366
23 — 0 SW I 0 (o] (o §4'1 349
24 — 0 SW2 o 1 o §2°9 34’0
25 ENE 11 SW 3 o| o 0 560 389
26 — 0| == ) O | % O 537 36%
27 — 0 SW 3 o I o §2'2 34’0
28 Wi Swgy o 2 1 45'6 29’5
29 — 0 SWy4 2 o 44'6 28'1
30 — 0 SWa2 o 4 I 49'7 307
- Okt.
I — O] WNW 4 I o) 44’5 27°6
2 — o SW 4 2 0 47°3 305
3 — 0| SW 4 I o) 446 27's
4 -0 W 4 I 0 44'1 26'2 | Sturm-Stésse 1 p.
) — O SW 4 I 0 — —
6 — 0] WSW 1 o) o 46'6 26'¢
7 — 0o SW&6 o O | 436 26'0
gt | — o SW 8 o o 430 24’5 | Sturm 1 P.
9 — 0 SW g4 o) o 41's 24’0
10 — 0o SW©6 2 o 42'1 238
Il — 0| SSW 1 2 o 42°9 237
12 — CIII SW 6 I *[10 436 26'4 3
13 — 0 — —_ 2 41°3 . 240 K in W 9 p.
14 SE 6 SW 8 4 I 457 24’7
I§ — 0 SW 4 o I 393 22'2
16 — ol SW 4 o | Yo | 385 217
17 — 0 SW©6 I O 394 22'4
18 SW 7| SW 8 I o 39'0 21'8 | Sturm 7 a und 1 p.
19 4 : d
291




